


 





 







 



 





 





 



 

 



 



 

 

 

 



 

 



 

 



 



 



 



 





 



 

 





 

 



 



 



 



 



 

 

 

• 



• 

• 

• 



 



d =
|vector length|

√s2pooled

s2pooled =  
a1s1

2+a2s2
2

a1+a2

α α

 



 





 





 



 



 

 



 

 



 

 



 

dAB =  
mA−mB

SE∗√Nps
=

mA−mB

√
SSwithin

N−k
∗

1

Nps
∗√Nps

=
mA−mB

√
SSwithin

N−k

Nps =
2

1

NA
+

1

NB
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H =  
Nlog(N)−∑ nilog (ni)k

i=1

N

Hmax = √k

RDI =  
H

Hmax

NZR =
|x>min (x)|

N
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• 

• 

• 

• 

RI =  
TP+TN

TP+TN+FP+FN

ARI =
RI−E[RI]

max(RI)−E[RI]



• 

• 

MI = ∑ ∑
|Truei∩Predj|

N

|Pred|
j=1

|True|
i=1  log

N|Truei∩Predj|

|Truei||Predj|

AMI =
MI−E[MI]

mean([H(True),H(Pred)])−E[RI]

∩

• 

• 

• 



• 

• 

• 

V =
(1+β) ∗ homogeneity ∗ completeness

(β∗homogeneity + completeness)
 

β

• 

• 

FMI =  
TP

√(TP+FP)(TP+FN)



 

 



 







 



 



 





 





 



 







 







 

 





 







 



No. 

Treatment-

adjusted 

ANOVA group

Treatment-

adjusted 

ANOVA group 

 effect size

Group-

adjusted 

ANOVA 

treatment

Group-

adjusted 

ANOVA 

treatment 

effect size

Group-

treatment 

interaction

Interaction 

effect size

1 0,0082 0,2791 0,0264 0,2048 0,4136 0,1037

2 0,0007 0,4544 0,1224 0,1137 0,9931 0,0061

3 0,0000 1,3149 0,7023 0,0183 0,9896 0,0076

4 0,9574 0,0022 0,3415 0,0566 0,9656 0,0145

5 0,0791 0,1389 0,6309 0,0239 0,9011 0,0268

6 0,2565 0,0723 0,8496 0,0084 0,6578 0,0626

7 0,0994 0,1257 0,0275 0,2024 0,9815 0,0103

8 0,3758 0,0515 0,0370 0,1841 0,9860 0,0089

9 0,2765 0,0681 0,5494 0,0312 0,9950 0,0052

10 0,1994 0,0862 0,1540 0,1007 0,9619 0,0154

11 0,0005 0,4792 0,6717 0,0206 0,4574 0,0952

12 0,6721 0,0206 0,2882 0,0659 0,8824 0,0298

13 0,0005 0,4778 0,6967 0,0187 0,8753 0,0309

14 0,0244 0,2098 0,2006 0,0859 0,8753 0,0309

15 0,0000 1,1773 0,8720 0,0070 0,5114 0,0856

16 0,0000 1,097 0,7369 0,0158 0,6174 0,0686

17 0,0001 0,5793 0,8472 0,0085 0,9979 0,0033

18 0,0010 0,4277 0,8680 0,0073 0,9954 0,0050

19 0,0004 0,5028 0,8121 0,0107 0,9511 0,0177

20 0,0022 0,3679 0,0034 0,3383 0,9680 0,0139

21 0,0300 0,1969 0,0285 0,2001 0,9715 0,0131

22 0,0016 0,3890 0,0758 0,1414 0,5682 0,0763

23 0,0283 0,2005 0,9268 0,0039 0,8875 0,0290

24 0,0627 0,1526 0,3603 0,0537 0,9623 0,0153

25 0,4908 0,0372 0,1019 0,1242 0,9208 0,0234

26 0,5202 0,0341 0,1446 0,1043 0,9543 0,0170

27 0,7715 0,0134 0,2110 0,0831 0,9119 0,0250





 















 



 





 



 



 



 







‐













• 

• 

• 


